LABJNDu3 standard lightnessI*
I* Ync YW nc_loox

I* L ABINDUS=IN(A 10+A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
|*LABJNDus=|n(A1n+A2u><)/(A2uA0n) (x=Y1Yy)
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LABJINDu3
tristimulus value difference

Yoc=Yw - nc=100,
1* L aBaNDUB=IN(A 17t A2nY)/(A2nAon)  (Ynd/100<Y<=Y,o)
*LaBINDu=IN(A 17+ A2 X)/ (Ao Aon)  (X=YTY,)
dY=Agn(A1ntA2nY)=Agn(A1rtAzX), see CIE 230:2019
dYg=0,24, Ay,=0,6666, A,~0,0699, ¢=0,67
dY;g=0,05, A=0,011, A;=0,0038
dY;6=0,01 Y,=18, dY=0,05

log (AY/Y) LABJNDU3
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,
I* L ABINDUS=IN(A 10+ A2nY)/(A2nAon)  (Yd/100<Y<=Y,o)
I LABINDUS=IN(A 10+ A2X)/(A2uAon) - (X=YTYy)
AY/Y=Agn(A1r+AgnY)Y=Aon(Arr+AgX)Y
(dY146=0,0026, £,,=0,6666, /4,=0,0699, ¢=0,67
(dY/Y)=0,0030, A,=0,011, A4,=0,0038
(dY/Y} &= 0046 Y,=18, dY=0,05
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Xw=5

XxN=0,2

log (Y/AY)
C,=(Y/AY)

LABJINDu3
tristimulus value contrast

Yoc=Yw - nc=100,

1% ABaNDU3=IN(A 17+t A2Y)/(A2nAon)  (Yn/100<Y<=Y,o)
1* L ABINDU3=IN(A 107t A2X) (A2 Aon)  (X=YTYy)
YIGY=Y/A g Ag Ao V)IEX Y TA oAt AgX)]

(Y/dY}o=373 52, /an 0,6666, /5.,70 060860 &7
(Y/dY)g=371,94, A=0,011, A ¥0, 003@39 Ca"on
(Y/dv);J :212,76 Y,=18, d\=0,06
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LABJNDuS3 relative standard lightnessl*/I*
1%/1% u Ync‘YW nc_loox

%L agaNDu3=IN(A 10+ A2 ) (AznAon)  (Ya/100<Y<=Y,o)
1%L ABINDU3 =IN(A 10+ A2X) (A2 Aon) - (X=YTYY)
I y(3,6)=491L1* ,(18)=1116/*y(90)=1737

I* gofl* =1,55, Ay=0,6666, A,=0,0699, ¢=0,67
I* /1% 1,00, A=0,011, A,=0,0038
I* 3 fI*=0,43,¥,1115,68 Y=18

log[i* /I* ]=0, m,=0,33
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LABJNDuS3 relative
tristimulus value difference
Yoc=Yw - nc=100,
1* L ABINDU3 =IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Y,o)
I* L ABINDU3 =IN(A 10+ A2)/(A2uPon) - (X=YTYY)
dY/dY =(A1tAX)/(A1+AY)
dYo/dY,=4,43, A,=0,6666, A,~0,0699, G=0,67
dYg/dY,=1,00, A=0,011, 4,=0,0038
dYs ddY,=0,31, Y,=18 dY=0,05 -
.
I*,=1116 dY,=0,05 dY_/Y,=0, 0030 F 4

log [(AY/Y) I (AYIY)] LABJINDUS relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

I* L ABINDU3 =IN(A 10 +A2RY)/(A2nAon)  (Ynd/100<Y<=Y,o)
1%L ABINDU3 =IN(A 10+ A2 (A2 Pon)  (X=YTYY)
(@Y/YY(AYIV)=Z[(A 1+ A X)X (A 17 +A)

(dY/Y)o/(dY1 N=0,88, Ay=0,6666, 4,=0,0699, ¢=0,67

(dY/Y) g/(dY/Y)=1.00, A=0,011, A4,=0,0038
@YYy g(AY/Y)=1, 8 Y, =18 dY0,05
log[(dY/YY(dY/Y)J=0, m=-0,13 ¥
I*,=1116 d¥,=0,05 dY,/Y,=0,003(
I)‘le
Xw=5

application
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XN=0,2
log [(Y/AY) I (YIAY),] LABJINDuS3 relative
CICy=(YIAY)(YIAY), El(snn;t\;\l/us vaIEe contrast

=100,

I* L ABINDU3 =IN(A 10 +A2RY)/(AnAon)  (Ynd/100<Y<=Yoo)
1%L ABINDU3 =IN(A 10t A2X)/(A2uPon) - (X=YTYY)
(YAYY(Y/IAY)=[XI(A A )(A 10+ A L)
(YIdY)g/(Y/dY)=1,12, A,=0,6666, A,=0,0699, ¢=0,67
(Y/dY)g/(Y/dY)=1,00, A,1=0,011, A=0,0038
(YIdYY g(Y/dY)=0,64 Y, =18, dY=0,05

log[(Y/dY)(Y/dY),]=0, m=0,13

application
range




